Digambarpur Angikar

Amphan Relief Proposal Overview June 5, 2020

Priyal Thakur

Digambarpur Emergency Relief Proposal for Amphan Cyclone	requested (YOY increase)	Notes & Recommendation
Total 500 families affected Patharpratima – Digambarpur (250 families) Canning- Matla (90 families) Canning – Bansberia (100 families) Baruipur – Mallickpur (60 families)	Total : 9,15,000(INR)	Emergency requirement for Amphan Cyclone
Had a discussion with Asha Cornell Steward. Request from Asha Cornell for 200 families = 2,58,000(INR) We both decided if we fund 15% less for both requests, Asha Cornell would still be able to provide INR 2,21,880 and Asha San Francisco will be able to provide INR 7,77,750 (INR 1555 per family)	Total : 9,15,000(INR) Total : \$12,102	Meet 10 lakh budget for Digambarpur set by Asha Central Any other thoughts?

Annual Amount

Major activity	Items	Quantity	Unit price (Rs.)	Total (Rs)
Provide basic	Tarpaulin (size-18'x12', 170	500 pcs	510/-	255000
support to the	GSM)			
affected villagers	Rope (Nylon 20 mt size)	500 pcs	50/-	25000
	Dry food (Beaten Rice) (2 kg	10	4000/-	40000
	per family)	quintal		
	Dry food (Jaggery) (500	2.5	4000/-	10000
	gram per family)	quintal		
	Rice, Musur dal, Salt,	500 pics	500/-	250000
	Soyaben, mustard oil, muri,			
	kala chana etc			
Served health	Bleaching powder	500 kg	40/-	40000
and hygienic kits	Sanitary Napkin to the	500	40/-	20000
	adolescent girls and women	packets		
	Toiletries kits-(one brush,	500 pcs	300/-	150000
	one tooth paste, one soap,			
	mask, one detergent			
	powder packet-500 gm, one			
	hand sanitizer)			
	One mosquito nets (size-6'x7')	500 pcs	250/-	125000
Grand Total				915000

Digambarpur Angikar

Amphan Rehabilitation Proposal Overview July 3, 2020

Priyal Thakur

Organization overview

Digambarpur Angikar is a 20 year old organization in the Sundarban region, aimed at

- pre-primary and primary education of children and
- empowerment of women and children

belonging to the socio-economically backward communities in the region.

Asha has been supporting the organization since 2014, to run 3 pre-primary schools in the region.

In 2017 we provided additional funding to provide vocational training to girls with special needs.



Project Proposal for Rehabilitation:

Construction of concrete roof, replacing damaged Tin shaded roof of the existing Kitchen and dining room of preprimary education Centre at Canning and Ghutiary Shariff.

Present Challenge faced:

On 20th May, 2020 super cyclone 'Amphan' devastated the entire life and livelihood of the people living in Sundarban delta region under North and South 24 Parganas District of West Bengal. The cyclone devastated the entire Sundarban region and more than 15 million people are affected and a million of kachha houses are damaged or destroyed including our tin shaded roof of preprimary kitchen and dining room.

Estimated Budget:

Canning Centre: 1000 sq ft x 500 per sq ft = Rs. 500000

Ghutiary Shariff Centre: 1000 sq ft x 500 per sq ft = Rs. 500000

Total Grant Requested: Rs.10, 00,000 (Ten lakhs only)

Asha Central Budget for each project : 15 lakhs total

Had a discussion with Asha Cornell (The Cornell chapter was requested INR 8,75,000 for construction of crèche school roof)

So we decided to fund INR 6,25,000 From Asha SF Chapter.

Time frame: Six months

Propose Activity	Time Frame[Month wise]			
	Month:01	Month:02	Month:03	Month:04-6
Prepare a detail item wise cost analysis plan				
with help of an experience Engineer, as per				
sanction Budget				
Selection of vendor and mason through at				
least 3 quotation				
Purchase of quality Raw materials [Cement,				
TMT Bar, Sand, Stone Cheeps etc]				
Start and continuation renovation/				
construction work				
Finish all related works				
Inaugurate the new pre-primary kitchen and				
dining room in presence of Donor,				
Community, Government and public				
representatives.				
Continue ongoing school under the newly				
constructed concreted Roof				

Outcome of the project:

Students will continue their education with in a safe place.

Ensure safe and full protection of children and teachers.

Minimize tension and fear among the Guardians.

Increase student's strength and reduce rate of school dropout.

Reduce chances of further damage from any types of natural calamity.